Money calculations

Using a calculator for money calculations

Use a calculator work out the answer to each sum.

Remember to write your answer using correct money notation.

1.

4.

7.
10.
13.
16.
19.
22.
25.
28.
31.
34.
37.
40.
43.
46.
49.

52.
55.

56.

57.

£1.50 + £3.45 2. 85p+74p +52p 3. 63p+£1.74

£10 - £3.68 5. £6.84-£1.94 6. £8.53 +£2.57
£1.35-80p 8. £12.84 + £3.76 9. £6.18-£5.48
£5.25 - £2.45 11. £1.05-98p 12. £4.78 + 26p
£15.25+5 14. £3.56x6 15. £26.95 + £3.45
£3.67 + 64p 17. £19.80 + 4 18. £6.42 - £2.72

£12 + 8 20. 84px 15 21. £5.40-73p

£1.25 + £6.85 23. 5xf£2.24 24. 14x£6.65

£5.37 - £4.87 26. £15+6 27. £20- £17.60
£18.45 + £6.75 29. £21.35-£5.85 30. £18.50+5

4x £3.75 32. £33+12 33. £1.78x5

65p x 30 35. £1.80+36 36. £4.80+16

£4.85 + £1.20 + 59p 38. 79p +£2.35+ 8p + 56p 39. 74p +39p + £1.53 + 4p
87p + £2.09 + £6.84 41. £16 + £4.81 + £1.39 42. £4.26 x5

£20 - £15.48 - 72p 44, f£5-87p-53p 45. 89p +£2.47 - 36p
£10 - £7.89 - £2.07 47. 5x £21.61 48. £15.72 + 4

£26 + 8 50. £18.60+6 51. £35.91+14
£24.50 + 8 53. £17.84+7 54. £14.27 + 8

Helen buys a CD costing £7.80 and a DVD costing £10.95. How much change from a £20 note
should she receive?

How much change from a £5 note should you expect when you buy a bottle of water costing
65p, a bag of crisps costing £1.12 and an apple costing 53p?

Colin has £20 to share between himself, his brother Tom, and his sister Karen. How much
do they each receive? Will they all get the same amount? - Explain your answer.

You will only score
full marks in a test if

you write money
correctly.
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Money calculations

Using a calculator for money calculations

Answers

1. £4.95 2. f£2.11o0r211p 3. £2.370r237p
4, £6.32 5. £4.90 6. £11.10

7. £0.55or 55p 8. £16.60 9. £0.70 or 70p
10. £2.80 11. 7por £0.07 12. £5.04

13. £3.05 14. £21.36 15. £30.40

16. £4.31 17. £4.95 18. £3.70

19. £1.50 20. £12.60 21. f£4.67

22. £8.10 23. £11.20 24, £93.10

25, 50p or £0.50 26. £2.50 27. £2.40

28. £25.20 29. £15.50 30. £3.70

31. £150r £15.00 32. £2.75 33. £8.90

34, £19.50 35. 5por£0.05 36. 30por£0.30
37. £6.64 38. £3.78 39. £2.70

40. £9.80 41. £22.20 42. £21.30

43. £3.80 44, £3.60 45, £3or £3.00
46. 4por £0.04 47. £108.05 48. £3.93

49, £3.25 50. £3.10 51. £2.57 (2.565)
52. £3.06 (3.0625) 53. £2.55 (2.548571429) 54. £1.78 (1.78375)
55. £7.80 + £10.95=£18.75 £20 - £18.75 = £1.25

56. 65p+£1.12+53p=£2.30 £5-£2.30=£2.70

57. £20+ 3 = £6.666666666

3 x £6.66 = £19.98 so there will be 2p left over. They can have £6.66 each.

3 x £6.67 = £20.01 so they will be 1p short if they tried to have £6.67 each. They can only
have £6.66 each.

Alternatively two people can have £6.67 each and one can have £6.66
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